
Timoteos

SPARE PART MANUAL

Rev. 3 (15.8.2019)



----- CONFIDENTIAL -----

93131-1

30.4.2021 2

20002

93165

93137A

HEX5T

93133A-1

93134-121005A

93136

93137B 93137C

93141-15

93141-22

93140

20040

93135A

ELLA 1
Mobile base, Manual (93371)

Contact Timoteos Sales for Powered base (93374)



----- CONFIDENTIAL -----30.4.2021 3

93010

964-1-BB-
93237 93242A

93242B

93242C

TM-M6x10x50 
C32

92025
93113

92076 92079

964-1-BB-
93235

964-1-BB-
93236

92010

TM-
M6x10x20

ELLA 1
Sandals and Hardware (93010)

ELLA 1
Knee Support and Hardware (93248)



----- CONFIDENTIAL -----30.4.2021 4

93012

93014

964-1-BB-
93232

TM-M6x10x20

93019

93020

964-1-BB-
93231

TM-M6x10x20

ELLA 1
Pelvic Support and Hardware (93074)
Trunk Support and Hardware (93075)

ELLA 1
Lateral Supports with inset and Hardware (93077)

Contact Timoteos Sales for Straight, Swing-Away and Flexi Supports

Belts (93015)

93015

964-1-BB-
93233

93089 9301693111
964-1-BB-

93234



----- CONFIDENTIAL -----30.4.2021 5

93175

93024

93023
964-PRO-P1L-TT

MW070250-TT

964-1-BB-
93230

ELLA 1
Tray and Hardware (93141)

ELLA 1
Head Rest 10” and Hardware (93258)

93125
(Old)

93023

TM-M6x10x82 C64
(Old)

93104

93155A 93155B

93154-1

93156A 93156B

TS-M6x30

93410
(New 2019)

93023

TM-M6x10x50 C32
(New 2019)



----- CONFIDENTIAL -----30.4.2021 6

93131-1

ELLA 2
Mobile base, Manual (93372)

Contact Timoteos Sales for Powered base (93375)

20002

93137A

93166

HEX5T

93133A-2 93134-2
93136

2200593137B 93137C93141-15 20040

93141-22

9314093135A



----- CONFIDENTIAL -----30.4.2021 7

93243A

93243B

93243C

92025

TM-M6x10x50 
C32

93037

93113

964-1-BB-
93237

ELLA 2
Sandals and Hardware (93037)

92033

92077 92080

964-2-BB-
93235

964-2-BB-
93236

TM-M6x10x20

ELLA 2
Knee Support and Hardware (93249)



----- CONFIDENTIAL -----30.4.2021 8

93012

93040

964-2-BB-
93232

TM-M6x10x20 93043

93044

964-2-BB-
93231

TM-M6x10x20

93041

964-2-BB-
93233

930169311193069
964-2-2BB-

93234

ELLA 2
Pelvic Support and Hardware (93080)
Trunk Support and Hardware (93081)

ELLA 2
Lateral Supports with inset and Hardware (93083)

Contact Timoteos Sales for Straight, Swing-Away and Flexi Supports

Belts (93041)



----- CONFIDENTIAL -----30.4.2021 9

93175

93024

93023

964-PRO-P1L-TT

MW070250-TT

964-1-BB-
93230

ELLA 2
Tray and Hardware (93142)

ELLA 2
Head Rest 10” and Hardware(93258)

93105

93154-2

93155A 93155B

93157A
93157B

TS-M6x30
93126
(Old)

93023

TM-M6x10x82 C64
(Old)

93411
(New 2019)

93023

TM-M6x10x50 C32
(New 2019)



----- CONFIDENTIAL -----30.4.2021 10

93131-2

20002

93167

HEX5T

93137A

93133A-2 93134-3

93359

93136

2004093137C93137B93141-15

93141-22

9314093135A

ELLA 3
Mobile base, Manual (93373)

Contact Timoteos Sales for Powered base (93376)



----- CONFIDENTIAL -----30.4.2021 11

93056

93113

93244A

93243B

93243C

92025

TM-M6x10x82 
C64

964-1-BB-
93237

92077

92109

92080

964-2-BB-
93235

964-2-BB-
93536

TM-M6x10x20

ELLA 3
Sandals and Hardware (93056)

ELLA 3
Knee Support and Hardware (93249)



----- CONFIDENTIAL -----30.4.2021 12

TM-M6x10x20

93059

93012

964-3-BB-
93232

93062

93063

964-3-BB-
93231

TM-M6x10x20

93060

964-2-BB-
93233

930169311193070
964-3-BB-

93234

ELLA 3
Pelvic Support and Hardware (93086)
Trunk Support and Hardware (93087)

ELLA 3
Lateral Supports with inset and Hardware (93091)

Contact Timoteos Sales for Straight, Swing-Away and Flexi Supports

Belts (93060)



----- CONFIDENTIAL -----30.4.2021 13

964-PRO-P2L-TT

MW070250-TT

93023

93176

93024

964-2-BB-
93230

ELLA 3
Tray and Hardware (93143)

ELLA 3
Head Rest 14” and Hardware (93259)

93106

93154-3

93155A 93155B

93158A
93158B

TS-M6x30 93127
(Old)

93023

TM-M6x10x82 C64

93412
(New 2019)

93023 TM-M6x10x82 C64



----- CONFIDENTIAL -----30.4.2021 14

93131-3

20002

93133-4

93134-4

93048 
(fastening plate)

CB8

HB41

LA34

HEX5T

93137A

93137B

111030-A

93137C

93140

93168-01

ELLA 4
Mobile base, Powered (93378)



----- CONFIDENTIAL -----30.4.2021 15

93056

93113

93244A

93243B

93243C

92025

TM-M6x10x82 
C64

964-1-BB-
93237

92109

92078 92085

964-3-BB-
93235

964-3-BB-
93236

TM-M6x10x20

ELLA 4
Sandals and Hardware (93056)

ELLA 4
Knee Support and Hardware (93250)



----- CONFIDENTIAL -----30.4.2021 16

93019

93145

964-4-BB-
93232

TM-M6x10x20 93062

93146

964-4-BB-
93231

TM-M6x10x20

93114

964-2-BB-
93233 9301693111

964-3-BB-
93234

93332

93336 
(metal insert)

92118

93331

ELLA 4
Pelvic Support and Hardware (93149)
Trunk Support and Hardware (93150)

ELLA 4
Lateral Supports Swing-Away with inset and Hardware (93091)

Contact Timoteos Sales for Straight and Flexi Supports

Belts (93114)



----- CONFIDENTIAL -----30.4.2021 17

964-PRO-P2L-TT

93024

MW070250-TT

93176

93023

964-2-BB-93230

ELLA 4
Tray and Hardware (93143)

ELLA 4
Head Rest 14” and Hardware (93259)

93106

93154-3

93155A 93155B

93158A
93158B

TS-M6x30 93127
(Old)

93023

TM-M6x10x82 C64

93412
(New 2019)

93023 TM-M6x10x82 C64


